NEW TRUST SCIENCE ACADEMY

~ ™~

GUESS PAPER 2025
H k_)

Physics - 9™

English Medium asisa 94|

Oﬁﬁcudﬁﬂ o) g3 a8 (olita cJJeY)jﬁJﬁemégb%
9 A G 0wl (olg S (b T Jad U g3
&M%J&JLA:\ g"‘é G S0 18 (e c.i.i\dl.‘uw

-~

oS & ewww.ntsacademy.com
9™ Physics guess paper

FOR ALL PUNJAB BOARD

POWERED BY: www.ntsacademy.com
O™ Physics guess paper

Most Important short questions

1- cug

-8 &5 www.ntsacademy.com S qug s bas =l S o g€ S 12/11/ 19 S g plal S lady



http://www.ntsacademy.com/
http://www.ntsacademy.com/
http://www.ntsacademy.com/
http://www.ntsacademy.com/

NEW TRUST SCIENCE ACADEMY

Define Plasma physics and Geophysics.

§ = BALS (e oaS 8 g gl S8 ma Dy

Differ b/w base quantity and derive guantity

§ = AALS (e (e jeala gl aiaia sl

Differ b/w base and derive units. Example.

O (o I € (38 LS (e il gy 5ila ) gy

Differ b/w zero error and zero correction.

= (38 LS e S0 68 95 L9 L) 9)

Define Vernier constant?

§ A e LS o Cullaud g€ ) g

Define system international?
What role play in progress in science.

O e (B (S il € ) o LS e Jidii ) e
?:J\.\JSQSIS@&

Estimate your age in seconds.

ol e RS 014 S jas Al

Define prefixes? Write examples.

?:J\JAI,\S:.AM SH

Define scientific notation.

¢l o LS Oy 55 Sl

What is stop watch? How its can be used.

$ o Ag Jearind S ¢ o S S )y Sl

Define significance figure?

§ i S gty ) (e ey

Define mechanics and electromagnetism.

§ (38 LS e p G g SIS o) uSiSa

Write least count of Vernier calipers and screw
gauge.

oS S Cund S € g S ) S i

Y g L

1. | Define Physics? Explain any five

0L il (o (S8 (Sl € 0l e IS S

branches. oS S5y
2. | What is Vernier calipers? Write anote | obe JS Al b S G € 3 e LS 50lS y 5
on its working. - S

3. | What is screw gauge? Write a note on
working of it.

0SS g KAyl Sl € LS 8 g S

4. | Write five rule for identify the
significance figure.

-u;\.@_;d d}a.a\ @'\LS‘ é calnd ‘55 U Mm"“ H\

G sas IS el il

Your hair grows at the rate of Imm per day.
Find their growth rate in nm™.

=58 e 8 (S A0 e 1T b S
-0 S pslee e e sy (S T SO o

A chocolate wrapperis 6.7 cm long and 5.4
cm wide. Find areas up to reasonable
numbers.

Kl 2 1553 54 ) el ans 6.7 L) CulSls
S pslae s e JLd S gty aal Lyl

2 - Cig

How vector quantities be represented by
graphically?

¢ lla LS il S IS8 K Sy ke S50

What are the importance of vector quantity
in our daily life?

-8 el (S Gl 05 (e (S50 e )5

Why vector quantity can not be add or
subtraction.

Sl LS (g 0538 G b o 58 s ldie 805

Differ b/w rest and motion.

$ 2 A LS Gae Gige o) Qo

Define kinematics.

?53\)4\:\5:“@@15

Define translatory motion. Write its name.

oSl Sl € ) palS s (4 e (5 st S

Differ b/w vector and scalar quantities.

$ 2 B LS (e Oslie SIS sl S0

Define Position. Give an example.

-0 JUia ?di\)ﬁ < = ) s

Differ b/w positive and negative
acceleration.

e LS Gl JLSy) A8 ) sy m

Differ b/w speed and velocity.

2 GBS Gae Y5 sl S
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Define acceleration and uniform acceleration.

§ 2 e LS e o Sl o g ol oo

Cheetah can run at a speed of 70kmh*. Convert
speed into ms™.,

éw‘-d‘-’”jﬁcwﬁbéﬁlfgséﬂﬂ;ﬁmf%

Falcon can fly at the speed of 200 kmh.convert this
speed to ms™.

-du&j‘cwﬁbé:éegéﬁyﬁigoooﬂé
-0 S aslae (e T (B Jle Suw Sl

Convert 36 kmh™ to ms™.

0SS e 38 8 e S A8 8 Sae 5K 36

Define uniform speed and uniform velocity.

w o . L I
$ 2 BB LS e (A 5 Wi ) T p i

Convert 20ms™ to kmh™.

S i (e i (e IS oS 30 A i 20)

Define gravitational acceleration? Write its value?

il Sl § ) ye LSy LS JadS 5 0 S

Q‘Y\y&é‘aﬁ’jﬁ\

Define motion? Explain its types with
example?

Q;L@}éew\éw\?dj\f\gscudﬁﬁ
'Uﬁ)sc‘“UJju‘

Define translator motion? Explain its types
with examples?

S bl (Sl € ) e LS s (i 50 5 L 53
-0 &2 Jie (S Caliag

Explain scalor and vector quantities with

ol s e oslie S Qs lta 805 ) LS

examples? LN
Derive first equation of motion with the O slsa Ay (S € a wo 20 (Sl S a6 S
help of speed time graph? oS 2al
Derive the second equation of motion with Gomisd S S a2 2e (S Gl R L S
the help of speed-time graph? oS 340 &l glua
Derive the third equation of motion with the G mti (oS S a3 20 (S il R A S
help of speed-time graph? oS A4 &l glua

G s IS el il

I Lins SN 1 1T AL 10 e itz 36k o)
A train moves with a uniform velocity of 36kmh™ for 10 s. Find the distance travelled by it.

e U kb Ly St L Lo S} 100 - (/0 g LR ML 05ms™ eclofaing

A train starts from rest with an acceleration of 0.5ms”. Find its speed in kmh™, when it has moved 2

through 100 m.

d’ﬂjd!.&ld’dl_. (ii) ijﬂuyr_npgﬂ,ﬂ, (i) :éfﬁ‘,q_&ﬂ_‘b{pﬂﬁiﬁ? 6 JL--;.JJ"MJ)JQITH“IJLJIuE

A cricket ball is hit vertically upwards and returns to ground 6 s later. Calculate (1) maximum height

reached by the ball (ii) initial velocity of the ball

o et /P 100 L2 120000 |,

A sprinter completes its 100 metre race in 12 s. Find its average speed.

P AN Jon 20ms FUSILIES e S PSSP St K

A car starts from rest. Its velocity becomes 20ms™” in 8 s. Find its acceleration.

L LL SV et SR K20 ) e Sl e P L 2ms” Ly e 2one c 53 2 K80 | 6

A train slows down from 80kmh™ with a uniform retardation of 2ms” . How long will it take to attain

a speed of 20kmh™?

At F I L1 Qg 15ms? nZ S pr o F Mok g 61250 F 0§ -g 5 oot Sms™ K

A car travels with a velocity of 5ms™. It then accelerates uniformly and travels a distance of 50 m. If

the velocity reached is 15ms?, find the acceleration and the time to travel this distance.

_i‘,{l‘xl“" .:3;[2-)}-

3 -cu

L
o

What is the law of inertia?

S e S i

Define law conservation of momentum.

?5’3“)‘ L..‘S — U}"G é u*“:‘)))"s CS f‘ﬁ:“)“‘
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Write two method to reducing friction.

65 ik 0 S 58S S IS

Why rolling friction is less than sliding
friction.

s UmS oS (S ST (S 5 Kl

What is unit of force? Define it.

03 Sy xS (S gy S b

Differ b/w mass and weight.

2 GRS e 0)s sl e

State newton’s first law of motion.

-0 O Sy 1S i ge 1S (i

State newton’s second law of motion.

-0 G5 | s 53 1S (4 e S (i 00

Write two advantages and disadvantages of
friction.

~eSd a5l Nl g0 S S

Define co efficient of friction.

§_a LS 38 il ik e S

Define limiting friction.

§ ) A e I ]

Define centripetal force?

$ 2 e WS s Jin (s i

Define banking of road

§ ) ja LS w3y )| Sasay

Define centripetal acceleration.

2 alS s i LSl Sy (5 i

Define momentum? write formula.

S o Y se L S i et (S e ga

State newton’s third law of motion.

<0 e e (58 | puasi S (450 S (g

Y g L o

Explain Newton’s first law of motion.

gk e | 1

..éjil F=ma ..;F;L—'Jllg‘.,{w uJ.l’FF/l:l’g;fruff 2

Explain Newton’s second law of motion and derive its equation F =ma.
Explain Newton’s third law of motion. -i’,"-.'wﬂ_.;wﬂfl/_"l’pf‘fl’u’f 3
‘Write any five differences between mass and weight. ,JJJ}&E;JIL:U},;HJL 4
5

-(_.»f.:ﬂr:’Jy?f!{::;;lf:f{a.{lveéyUJL{JFJ(L—!I-@L.JH)

Explain the motion of two bodies attached to the ends of a string such that one body moves vertically

and the other moves horizontally.

Derive the relationship between force and momentum.

_é.iii.z,hl.-‘ Jyhﬂﬁfnl IJ""

-‘i’ﬁﬁulbibd’&d’u}.‘;‘(.#’w u;‘rﬁu}{ﬁﬁ.{/

State the law of conservation of momentum. Explain it with the example of two spheres.

_é._'.-’l.h(ﬂﬂLJJJJEA‘JJI»IJ}&-#W L;lfﬁ'fgﬂu}”ﬁ[;{f 8

State the law of conservation of momentum. Explain it with the example of gun and bullet.

Www.ntsacademy.com

State the law of conservation of momentum. Explain it with an example.

-éybs;;;uf&hg_éwgwiﬁfﬁ,fiﬁr 9

Write down four ways to reduce friction.

LGB AL 10

Define centripetal force and derive its equation.

~EuenfUaga Fuifd x| 11
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W +¢;J;4.cr“-)ffr£ 2ms? /7 LigiLide20 | 1

A force of 20 N moves a body with an acceleration of 2ms™. What is its mass?

The weight of a body is 147 N. What is its mass? Wl U« 14TN .;;,lj:a'h’("1 L

TJN;I’A:J;);J?}_;CEﬁ};;;.é_;;(".gmrl.rilﬂ 3

How much force is needed to prevent a body of mass 10 kg from falling?

e S M S 100N 22 (Lo S¥s0 | 4
Find the acceleration produced by a force of 100 N in a mass of 50 kg.

g K ML g b P e 5SS UAS200N (F GLNn S8 | 5

Find the acceleration that is produced by a 20 N force in a mass of 8 kg.

-é #J;ﬁ;h’u{.ﬁ.im.ﬂ:? 2 .!rru'l LJ’;—"*IZG-L;—U:JID ms™ # .{rt’u f;"S 6
r -4 !
A body of mass 5 kg is moving with a velocity of 10 ms. Find the force required to stop it in 2 s.

¢ SKG VW B IS I €L Gotie 100ms™ 0 F e S Orsd S S /2060 | 7

A bullet of mass 20 g is fired from a gun with a muzzle velocity 100 ms . Find the recoil of the gun if

its mass is 5 ke.
L.
4 - g

How head to tail rule helps to find the resultant of vectors? 'i'.i-_l,');_‘.b_)u/ Jifrﬁﬂz;(}/{-d;}bﬁﬁéf

St Usgh PORSEASE P 8 i P SL 2SS A K
Why is there a need of second condition for equilibrium if a body satisfies first condition for
equilibrium?

e ib S8 AU

‘What is second condition for equilibrium?

Lrleodo-ga /Sy ids

Define parallel forces. Name its types.

-Ee L. Sy St

Define unlike parallel forces. Give an example.

Differentiate between like and unlike parallel forces.

3
4
5
Ly SSabrginbl| 6
7
]
9

‘What is meant by resultant force? fesl e ey

Define resultant vector. L/ § ey,

Define centre of gravity. E Sk ST

What is meant by resolution of forces? sl e i STz | 10
Define perpendicular components. LSS | 1D
‘Write the formula to calculate the force. _a.furﬁfi.)'(#‘d,s"vlfw} 12
Define torque and give its unit. -JJ#{I’JM,I&_?}JJX 13
Define centre of mass. AT | 14
Define rigid body. e | 15
Define axis of rotation. .#'J}Jﬁy._ﬁf{r 16
‘What is meant by line of action of force? rq_n;yf';.m}_ﬁﬁurgfu 17
Define moment arm. -;,":-_E/"J’r'.;f.:#r‘ 18
State the principle of moments. ~Zm | 19
Differentiate between clockwise and anticlockwise moment. 5 pasr i SEF A SE | 20
Differentiate between clockwise and anticlockwise moment. Gt asr i SEFIAISE | 20
Define centre of mass. Ea lnarAs | 21
Define centre of gravity. E ,;Jqlzf g
Differentiate between centre of mass and centre of gravity. ERILELS T T | 23
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‘What is meant by plumb line? el /Lf;cfﬂ.,.é, 24
What is the difference between torque and couple? ?ﬁ-_J}gfu:J S| 25
Define equilibrium. Name its states. -éﬁﬁuﬁ’bJJl-#_&'}Jﬁﬁdﬁ‘r 26
Define stable equilibrium. Give an example. S iy Pk /L{,ﬁ_ﬂrﬁ 27
Define unstable equilibrium. Give an example. -Eaedigos AUk /Jdﬁ%rg 2| 28
Y gan M ;“:’\

re P, WSS Lot L TS i P S AP oz 1
Define resolution of forces. How can a force be resolved into its perpendicular components?

State the conditions for equilibrium. &b }Jﬁj.j;fl 2
Explain the states of equilibrium with examples. _éug‘,ﬁj b;frl )..der;_udlur'ﬁ- 3
OV g JSQ yaat

_é'rﬁwﬂ{g;fﬁm.%wh,,uﬂﬂ“ ;lﬂi:/‘-(' X J;I'Ju;i 50 1
Find the perpendicular components of a force of 50 N making an angle of 30° with x axis.
- 5N el oy 12N i 62 e e anfin | 2
Find the magnitude and direction of a force, if its x-component is 12 N and y-component is 5 N.
_#'r;"’_ﬁcurpi.mﬁ;.w.{..ajgf St 45 426 L 10cm e 22 ud (o £ 100 3
A force of 100 N is applied perpendicularly on a spanner at a distance of 10 cm from a nut. Find the
torque produced by the force.
e 20N i xWd e § S Lt K30 LA x A | 4
A force is acting on a body making an angle of 30° with the horizontal. The horizontal component of
the force is 20 N. Find the force.
_érPJEdf;Lnlﬁr_Lx‘,ﬁ S0N - 16cm Lﬁi;ﬂ_f]-{féﬂﬁfﬁr 3
The steering of a car has a radius 16 cm. Find the torque produced by a couple of 50 N.
_i,‘.'r)""‘ c}Jslff-'},g-qi. 44N 538N ﬁuﬁuf.rﬁ_?.[,.n_ﬂ .;;_ug.u;d»f»rij,g...g'l 6
A picture frame is hanging by two vertical strings. The tensions in the strings are 3.8 N and 4.4 N.
Find the weight of the picture frame.
Wk UL L Site yAS150N et Vb e A 200N LS e e 10em w2 L1 | 7
A nut has been tightened by a force of 200 N using 10 cm long spanner. What length of a spanner is
required to loosen the same nut with 150 N force?
&t Lot WL 1 II LB K300 AL Sy Flre ydS200N g | 8
A man is pulling a trolley on a horizontal road with a force of 200 N making 30° with the road. Find
the horizontal and vertical components of its force.
9

G SRS e K S s af jo 15 em SO S 200N 5L

A mechanic tightens the nut of a bicvcle using a 15 cm long spanner by exerting a force of 200 N. Find
the torque that has tightened it.

0 3 g8 o ol g8 2 8 (il ¢ g ) Jiog alad S Gl

e A oy onf (i S (gl 34T Juad (A 38

L4

&M%JCSJLA?‘ g"‘é Gl SO J8 c.‘i.i\dl.‘uw
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‘What is meant by the force of gravitation? Tl /H;J;ﬁffdgf 1
What is a field force? tednf U | 2
How can you say that gravitational force is a field force? r.;..wﬁ.th_ﬂmﬁﬂd:ffwéfb)uf*f 3
What is meant by gravitational field strength? Tl /k(a.:.iltu(ﬂﬁdg; 4
Why does the value of g vary from place to place? 'f.f_un.{..ﬂ.-"gué el g| 5
What are artificial satellites? U g~ | 6
Define gravitational field. _é’_é,/J Jﬂ?ﬂﬁif 7
State Newton’s law of gravitation. Write its formula. _e_’ufﬁb’wméﬂbu}ﬂ’g’-) SeS¥ie| 8
What is meant by the mass of earth? Write its value. ..ﬂ.-.-.fufw?ﬁ-_;!;y';.,_nﬁgﬁ 9
Wnd s Lg=G ;‘:; e ipls /B R i
What would be the change in the equation g = G%if R is doubled? °
Write the formula to calculate the mass of earth. _éﬂrﬁl’i.frs“‘brl.rg:!j 11
Define a satellite. _‘L.g}g(_-gu.? 12
Define geostationary satellite. -#J.EﬁJ_*!l#fd,#ﬁ 13
What are geostationary orbits? Te /Lf;.ui-;fd}."' 2| 14

teirasde il Sesrs o | s
What is the height and speed of a geostationary satellite from the surface of the earth?

?{-tpy{brh’wir?f-"'/k("rﬂjﬂ;" 16

What is meant by Global Positioning System? How many satellites does it contain?

What is the difference between artificial and natural satellites? ?‘,-_J)Lf._ﬁ.,r’-’ J.L.:'JJJJ,IJJ’” 17

oAbl §trenpfe Fur L | o

What is meant by communication satellites? Write their height from the surface of the earth.

d.__ijélc.-ljbﬂfulL:JJdﬂ‘-éc&.wJFrwﬁ!difrcf.f 1

Describe Newton’s law of gravitation. Derive its equation with the help of an example.

Explain the gravitational field. --.-.‘,{.—.:-*Lht.ﬁy ﬁ U‘.;‘f 2
Er PRI sl el gESIM, = R;g s

Derive the equation M, = RFzg and using this equation calculate the mass of earth. ’

How the value of g varies with altitude. Explain. -épu,r.;_énigy’w.:.éd' gLk | 4

- WL o g Sy e g |
‘What are artificial satellites? Derive the formula to calculate their orbital speed.

QY\}AJST,\J.-,\A-\?.‘\\

_érﬂ"dﬁ.ﬁﬁ{/c}kuiwl'.f_ 0.5m Mu‘k#&.‘rﬁ/ .ﬁul-q_ 1000kg mr.frﬁ;._i.;ﬁ}_fy
Find the gravitational force of attraction between two spheres each of mass 1000 kg. The distance 1
between the centres of the spheres is 0.5 m.

-2 ALy -e 0.006673N g;jﬁagfw,;ﬁu;qu.ﬁ Im Z Y5 Ll
The gravitational force between two identical lead spheres kept at 1 m apart is 0.006673 N. Find their 2
masses.
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& Wry- e 1740k 24 K4y 1.62ms? AP s S Sy
The acceleration due to gravity on the surface of moon is1.62ms™. The radius of moon is 1740 km. | 3

Find the mass of moon.

phred g 6 3600km < Lt |
Calculate the value of g at a height of 3600 km above the surface of the Earth.

- 48700km RANL A 2 gl ad g e pnfetiqedir§ 2
Find the value of g due to the Earth at geostationary satellite. The radius of the geostationary orbit is
48700 km.

e b TSNS S (5 850kam et sesitr )y p
A polar satellite is launched at 850 km above Earth. Find its orbital speed.

6-2u,
OY g i (p 5 ol
Define work. What is its SI unit? te e dTAvn. g /iy | 1
Define energy, give two types of mechanical energy. -@ﬁrﬁ!J&ﬂ&!{q}J&ﬂ 2
Define kinetic energy and write its formula. ey Uy 68 |JJ'-£|—&' ,; JJ..H_E-'J( 3
Define potential energy and write its formula. v i K- ;Jdﬂﬁe 4
Why fossils fuels are called nonrenewable form of energy? i‘.;.rl,lfu:f ;P.gj&li‘t&iﬁfﬂfd" il 5
What is meant by the efficiency of a system? f.;_n_.y.,.iby'.-_.g"f J:!Jf"' o’r 6
What is meant by the term power? Tl e sl 7
Define watt. -é»..&f/"ur.'-h 8
Define work and write down it mathematical form. -é..:,hl_-{y.-nfgruié'._g PSS | 9
Define energy and write its SI unit. -ﬁ&gd?ﬁil’u’lm;{qﬂdﬁ}! 10
Name four types of energy. --‘Lﬂrtﬁﬁfl&ddf;;ﬁil 11
Define nuclear energy. -é_&f{ﬂiir}!ﬂ 12
Name any four renewable energy sources. -érr&é!;1¢$JF¢4Jf Lga| 13
What is meant by renewable sources of energy? Give an example. -&sJ&Lifs /yfd-_éuj,g.f}ihﬁdir 14
What are fossil fuels? tesl Ve 2| 15
Name the parts of a solar house heating system. _értéuf" L’.H"' Lt | 16

a#ﬁcudﬁﬂ ‘/‘J‘JJ‘J%JE «Olila cJ%Y)jﬁJﬁewag@g
9 A o ol (olish S (Jsmbae 34 Juaid QA 5 38

L4

&M%JCSJLA? g"‘é G S0 18 (et "&;‘dl"“w

-~

-OiUS CswWwWw. ntsacademy.com

What is meant by geothermal energy? Tl e dat iz
What is meant by magma? Psl ,,-‘Lf»;.i.?
Define bio-mass energy. -é’...&r ,; J AL
Define efficiency and write its equation. ,gc,r,L-dfm;,u__{{_? ;leg‘-} d‘_’r
There is no ideal machine in the world. Explain the reason. ...;’.,{J;)L;.p..;.pd" v AT AL
Define power. Write its SI unit and formula. N lJ)’.rEiAh.'.r'gJTa_ﬁib’Ji_é.éf /Jd/ﬁk
Define joule and watt. -y Sz
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Y g LA"A ;“:’\

Define kinetic energy and derive its formula. -éjﬂurﬁ(mmé}.& /JJJ.A..@JK

Define potential energy and derive its formula. ESTTPY A ,;Jﬂﬁﬁ*g

What are fossil fuels? Explain. ~E ot I

Explain the solar house heating system. _g.{.;-'*l.a'-:J r"r Lty
OV g JSQ yaat

Wnd BB WAL e itiett F e i 20ms™ cotie 500g JW? A
A stone of mass 500 g strikes the ground with a velocity of 20ms™ . How much is the kinetic energy 1
of the stone at the time it strikes the ground?

E NS VS 3m S L LAn S K50 |,
A body of mass 50 kg is raised to a hﬁight of 3 m. What is its potential energy?
PP U1t S TnsTH12T it LAY P L5789 100T e i

A cyclist does 12 joules of useful work while pedaling his bike from every 100 joules of food energy 3
which he takes. What is his efficiency?

G RATAS -G S - D 105 EScbiSor” f16m S TOkg g L
Calculate the power of a pump which can lift 70 kg of water through a vertical height of 16 metres in 4
10 seconds. Also find the power in horse power.

& (L ._}'-"fgdr,i_m,&" IRV 6m el 4l S k3 20N £
A block weighing 20 N is lifted 6 m vertically upward. Calculate the potential energy stored in it.

-gff:"’.uy,fgﬁ' 1£ ¢ 4000N Wadt J;J;'}gdw‘_/d" Wed /S fpiffdmst Latr L1 | 6

LA

A motor boat moves at a steady speed of 4ms™. Water resistance acting on it is 4000 N. Calculate the
power of its engine.

b e 2 E A e F50m 2 605 S 300N S fi5T L
A man pulls a block with a force of 300 N through 50 m in 60 s. Find the power used by him to pull 7
the block.

-E P - g FG A 6m 2105 /0, 200ke oL | ¢
Calculate the power of a pump which can lift 200 kg of water through a height of 6 m in 10 seconds.

Oﬁﬁcudﬁﬂ c,dbl\ﬁjg cO‘.ﬂA cJJﬁY)jﬁJﬁeLdég\;%
e A Oy oS g S (JNsmban AT Juash (A 58

v

&u%gchLA? g"‘é G S0 18 (et "&;‘dl"“w

-~

oS & ewww.ntsacademy.com
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1- s
OY) g palida p (‘z"
What is meant by density? What is its ST unit? Tq_[rr#{fg,f!;ﬁﬁflr?{_ﬁfkrg&‘;-i 1
Define the term pressure. _é'...E/JJbIJh‘rJﬁ,;, 2
Show that atmosphere exerts pressure. -0 ﬁ@"ﬂ‘" o] 3
What is a barometer? tetnlf Kz | 4
Why water is not suitable to be used in a barometer? \'rxu:? u;}fu.:ﬁ:f Je g K ,,;:;GE 5
Why does the atmospheric pressure vary with height? ?q-rl_ml&d{f VLS 2SS | 6
State Pascal’s law. -é'_E}Jwﬁﬁip‘k 7
What is meant by elasticity? Tl ,p"-_[,‘--* Wl 8
State Archimedes principle. iUl st 9
What is upthrust? Ceil eS| 10
What is Hooke's law? What is meant by elastic limit? tei e sl Egfe fuiivd| 11
Define matter. Name its states. _egrtﬁu?'bdlulmé..a P | 12
Write two characteristics of kinetic molecular model of matter. _£.=.Pr": »JJ.#L){?L._&'[EI’&.:L 13
Write two differences between solid and gas states. ,é{j J}”u:_-)l,g-'-(ﬂl,_;ﬁ 14
Write two properties of liquid. -é.cf.a-l_-r';mf& 15
What is plasma? fes el | 16
Write two properties of plasma. _£_—,E-F'»JLJ¢ 17
Define density and write its SI unit. w755 18
Define pressure. Write its formula and unit. oy TR b gEw f S 2y | 19
What is meant by atmospheric pressure? fei e ;’..;.f | 20
What is barometer? Yol Ve Mg | 21
On what factors does the pressure of the liquid depend? THJ-;JZLA’|r,z4£.5L 22
State Pascal’s law. _#';ch,l}iﬁf'k 23
State Archimedes principle. -Edreku Lt | 24
State the principle of floatation. Wl g | 25
Define tensile strain and write its unit. .ﬂ;:gs’.,rmr;{_g}dwgfq 26
Define strain and write its unit. Eg{t’gu,lé'..y/ﬂfw 27
Define stress and write its unit. _é&g{mm#._g /JJL;! | 28
Define deforming force. - iJJJ...EA.Ej 29
What is the difference between stress and strain? fe /Wy s | 30
State Hooke’s law. -k g | 31
Define Young’s Modulus and write its mathematical form. .ﬁy@!d’wméqikﬂﬂﬁr}ﬁ 32
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g if aler® F SIS B WLkttt L uPe Tt 1

Name the states of matter. Write down three characteristics of kinetic molecular model of matter.

&5 P=pgh bl sl 2 Labi
Explain the pressure in liguids also derive the equation P=pgh .

State Pascal’s law. Explain the working of hydraulic press. _#@D;JL/?F&J{J:;IL-#&&Q}FFJ'I‘ 3
WWW.nisacademy.com

bt bSO Lol N LM E e lo i Py 4

State Pascal’s law. How the braking systems of vehicles work on this law? Explain.
sy RIS MILE -GN s |

Describe Archimedes principle. Derive the formula of upthrust of liguid.
What is meant by density of an object? Derive its formula. _éj;ly,ptfbrrf.’-_;n/k(‘.ﬁ;gr’-dr 6
Define elasticity. Explain stress and strain. _#'yu,J@y,mﬁ;_i{_'g;J&ff‘fw 7
State and explain Hooke’s law. _g’f’."@’UJL{g};Fé..; 8
Define Young’s Modulus. Derive its formula. _éj;lu;‘ﬁﬂ,rl?ﬁ-_,i /gr;,u"ﬁr}@. 9
S gas ISy o

P e 500g JW ALy 200em’ i 2

The mass of 200cm” of stone is 500 g. Find its density.

-g’.,"-.'rﬂ""uuiJMILG&{W-;.IM_.;}.Q)J;{}!G&-;. 10em $UE* 1L V5 L
A wooden cube of sides 10 ¢m each has been dipped completely in water. Calculate the upthrust of 2
water acting on it.

P U1 042N w12y Fog 048N Lok Jstin | 4
The weight of a metal spoon in air is (.48 N. Its weight in water is 0.42 N. Find its density.

M}cu& L;jl..ﬁ o#ﬁcudﬁﬂ s,dbi\ﬁjg ‘OC\.LA ‘J\%Y)ngewéglgg
S J8 ¢ Cuaatd c.i.iu.ilf ¢ Cuaatd JJ‘JJ%‘JJ#U-‘#‘U*&JSE(J‘J#M‘ L

Cail 9 LSJL"% g‘jé Cots ..h
0SS swww.ntsacademy.com

ot Pty B e S o rp e lmm LS e L 60310,000N 4o E /53107 m? £ af 21
A steel wire 1 m long and cross-sectional area 5x10° m’is stretched through 1 mm by a force of 10,000 4
N. Find the Young's modulus of the wire.

e 11300 kgm™ S 2 Z b dib A LY/ 200
Calculate the volume of 200 g of lead shot having density 11300kgm™.

[#]

o 2 g 1L 1. 5cm? L LEFi et d 5 00§ TSN e FipF n

A student presses her palm by her thumb with a force of 75 N. How much would be the pressure | 6
under her thumb having contact areal Scm’?

“Er# Bondsige Ui 20N dud 4 e 10mm A L P e U o1 i L -

The head of a pin is a square of side 10 mm. Find the pressure on it due to a force of 20 N.

1o Pt B ke bon 3K 2mm LSS U1 L6 4000N (o S 23105 m? Lkl
«2milf | g

A steel wire of cross-sectional area2x10° m’is stretched through 2 mm by a force of 4000 N. Find

the Young's modulus of the wire. The length of the wire is 2 m.

Www.ntsacademy.com
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‘Why does heat flow from hot body to cold body?

tud g tnd b e dde P b i

‘What is meant by internal energy of a body?

te B B8 4

Define specific heat.

ATy g Y

Define latent heat of fusion.

.g.{-.i";[,{:;.-;f} LFJfl.hr

Define latent heat of vaporization.

AP NPT AE R

What is meant by evaporation? Te sl /hfe_-.ﬁ;,;cﬂ
How cooling is produced by evaporation. I‘.g_&xlﬁqf..f Ha.-.g)‘”-z{:ﬂ
What is meant by thermal equilibrium? e et Ashi) 7
Define internal energy. -E A m
How does temperature determine the direction of heat flow? Tq_.rféd u:; i’.:fufﬂ,cf..:-;ii},‘:“
Define temperature. Write its SI unit. -&f..*;g;jﬁjn’m_#’._g 24 £ &
What is the difference between heat and temperature? fe VL E & sl 7
Define a thermometer and name its types. ,.gl'tﬂrtslu(‘,rlm.__{_g fu( AV
What is meant by absolute zero? Write its value. _é_".-EJJI?q.:! /Lfr..:a.b.d.r.‘.l

Define the upper and lower fixed points of the thermometer.

SE IS VI m g L2 7

Define Fahrenheit Scale and Kelvin Scale.

-é'he,;d'ukcwﬁruflkcﬁwﬁ

Write down one use and range of clinical thermometer.

- FE BN 2 K

Define specific heat and write its mathematical equation.

O RN S YAy e e

Define specific heat capacity. Write its unit.

Aown g fSP s

WwWw.nisacademy.com

Write the difference between melting and freezing point. -EiF J};_,\!&i#..f:;jnlhﬁ?
Define latent heat of fusion. Write its mathematical form. *gy@;JgL,Eg.g;g{aﬁid;JﬂhE
How is evaporation different from vaporization? T?_#ég,g#fl;{&::c,z,:{i#
What is meant by thermal expansion? T sl /!p":.il{».{ﬁﬁ.?

Ay g gy P2 I L sug s

Define coefficient of linear expansion also write its formula and unit.

What is meant by volume thermal expansion? Write its formula. o, U KL T sl ff;ilk{ij;ligﬂ'r.db

Define coefficient of volume expansion and write its unit.

A rnmgEy PSS Lag e

Why is there a gap between the railway tracks?

te bl B s Lughf et

‘Write two uses of thermal expansion in daily life. Eaﬂﬁ’lu&il&{&;li;ﬂd'ﬁrb
‘What is bimetallic strip? Give its use. _ﬂdlﬁ‘lfw?q_n Al )'-.'u:ibm
What is meant by anomalous expansion of water? Tl ,fif;.ﬂk'{wﬂ_..ﬁdk

Www.ntsacademy.com
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Describe four factors that affect evaporation. -éukJFhkLhme}l.‘;uﬂq:ﬂ 1

EHL=Ly 1+ eAD cvlg g bnfigdirds Lo s |

Explain linear thermal expansion in solids also derive the equation L =L, (1+aAT).

5V =V, (1+BAT) wihié g aolosS51g (07 L s

3
Explain volume thermal expansion also derive the equation V=V, (1+pAT).
'i'q_;fzulj‘fJaﬂfd.ﬁFl_pmh.q. 20 "Cféﬁ’fgﬂq.dy" 258000 ;-.r'/..f! 1

A container has 2.5 litres of water at 20°C. How much heat is required to boil the water?

e L9X10 K o d Sl {1/ L 37 dp LS5 5 g pt £ 30°C QUi X L1 84 0°C 2§ B
A brass rod is 1 m long at0°C. Find its length at30°C .(Coefficient of linear expansion of brass is | 2
1.9x10°K™)

LSS K 2 i e tn98.6°F £ UAA 0 | 3

Normal human body temperature is 95.6°F. Convert it into Celsius scale and Kelvin scale.

At W Lt Qs $p £ b B b 31 2 S ST o VS £20°C = 0°C Siu § 24l 22
< 25%10°K? | 4

Calculate the increase in the length of an aluminum bar 2 m long when heated from 0°C to 20°C. If
the thermal coefficient of linear expansion of aluminum is 2.5x10° K.

0wkt i Sanrd £ty £65°C =10°C £ /%05
How much heat is required to increase the temperature of 0.5 kg of water from 10 °C to 65 °C?

rh

WM L L% £90°C - 20°C £4/60u1/200 -t Slrei sl p 1000057 o 2004
An electric heater supplies heat at the rate of 1000 joule per second. How much time is required to 6
raise the temperature of 200 g of water from 20 ?C to 90 °C?

23360000k w7 Sid L o, 008 Lo e L Sy ea 7250000

How much ice will melt by 50000 J of heat? Latent heat of fusion of ice is 336000Jkg?. 7
9-cuy
OY g i (p 5 ol

Why metals are good conductors of heat? Tw:l.-ru{ }-",‘J‘Uf [l
Why conduction of heat does not take place in gases? Tlr;cuf U Jr !«’g}y b-1Y- /-:r
What is meant by convection current? Tq...rn‘la’b’j S
How does heat reach us from the Sun? ?.F.mk" ‘{Jﬁc.@razif
What is greenhouse effect? i‘q_l_.-".*.{-’!!brﬂ_.g{;
What is meant by transfer of heat? sl P e 7 )
Name the ways of heat transfer. _értﬁu}'ﬂ)ﬁ..;.-ﬂfﬁlfvr
Define conduction. Give an example. S gy /Jd,uy g
Define convection. Give an example. N N (A /"Jlﬁf
Define radiation. Give an example. N N Alesi
Write the effect of length on thermal conductivity. & ﬁfdﬂ{iﬁff S
Define thermal conductivity. Write its unit. -é..*;;b’d!.ulg‘:..é' /“'" dla,tf(ﬁ" J v
Write two uses of non-conductors. .&E‘r,.-.aut-'-"i:;f.}ﬂij:‘i;lr
Write the difference between conductors and non-conductors. _éJ;u:!;f o Lﬂl;ﬂj}rﬂf
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Write the difference between conductors and non-conductors. _éJﬁuLT}}f port L;Jr;si.:ﬁ}f
Write two uses of convection currents. .gc.-l.ﬂﬁ"luﬁur /i u"'{i(
Define land and sea breezes. _Ef_é‘;Jﬁ}FJJ}Id}_r-)
What is meant by gliding? test e Ll
What causes a glider to remain in air? 'e"..:_.yr.,._a-l’i;.;u:mﬁ:flf
What factors does radiation depend on? Write names. -afrr?.;.rn.;JmJ Mlﬁ-ﬂld.&;
Explain the impact of greenhouse effect in global warming. -E{wg}ifég.luﬂu{f ui...ﬁ.aln}:‘
Y gan M (“:’\
Define conduction. Explain with the help of example. FeobseufJe. a0 1

~E Nt Ll p Sl s L U 2
Describe the factors that affect the rate of flow of heat in a solid.

Suggest any four measures to conserve energy in houses. _ézfaujlgbgéfj_ﬁwdﬁg:w/ 3
What is radiation? Explain in detail. -éul-‘u;.;k“?‘i"gy'y?!d&; 4

03 o€y ) il o€ (lila ¢ oY ) 3, alad S il
9 S o oul (olish S (Jsmbae 34 Juaid QA 5 8
ﬁ.‘ibuge\g‘_g\)l.g g.dé wt&.}dé ‘w t.ﬁ.itdl.‘tcw
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